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Question Number : 1 Question Id : 3001 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who presided over the inaugural meeting of the Constituent Assembly of India?

Options :
1. Sachidananda Sinha

2. B. Pattabhirarmayya
2 Dr.BR. Ambedkar
4. Dr. Rajendra Prasad

Question Number : 1 Question Id : 3001 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 2 Question Id : 3002 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Which of the following is within the purview of the original Jurisdiction of the Supreme Court?
Options :

1. Disputes relating to avil matters between citizens and states

2. Disputes between citizens from two different states

3 Disputes relatng to Inter-state River water

4 Other than Water disputes between two or more states of the Indian Uruon

Question Number : 2 Question Id : 3002 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 3 Question Id : 3003 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Through which constitutional amendment to Article 359, can the operation of all fundarnental rights except
those guaranteed by Article 20 and 21 be suspended?

Options :
44th Amendment, 1978

1

z 42nd Amendment, 1976
3 52nd Amendment, 1985
4 Beth Amendment, 2002

Question Number : 3 Question Id : 3003 Question Type : MCQ



Correct : 1.0 Wrong : 0.0

@ Oergolf DA (50 3598 ©0ES 8ods, eHES 20 SodaAsw
@08S 210" FoRNBNS |WFEWE T80 ),
RS ©) @PENE TEY© HOSEEH IDHIHu)0?

Options :

443 5588, 1978
428 HSe0, 1976
528 $55e, 1985

g0 Do0m, 2002

Question Number : 4 Question 1d : 3004 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Supreme Court declared that- "Hijras, Eunuchs apart from binary gender, be treated as ‘third gender' for
the purpose of safeguarding their fundamental rights ... ... “1n the case of

Options :

1. Suresh Kurnar Koushal vs Union of India

2. Subramanian Swarmy vs Union of India

3. National Legal services Authority vs Union of India
4. Javed Akhtar vs Umion of India

Question Number : 4 Question Id : 3004 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 5 Question Id : 3005 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The total membership of the Union Council of Ministers shall not exceed
Options :

1. 15% of the total members of Lok Sabha

2. 15% of the total members of Rajyva Sabha

3. 15% of the total members of Parliament

4 15% of the total members of the Constitutent Assembly

Question Number : 5 Question Id : 3005 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 6 Question Id : 3006 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Constitution of India derives its ultimate authority from

Options :

1. Supreme Court of India

2. Parliament of India

3. People of India

4 Constituent Assembly of Incia

Question Number : 6 Question Id : 3006 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 7 Question Id : 3007 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which Provision of the Constitution provides for appointment of Comptroller and Auditor General of India
(CAG)?

Options :

1. Article 148
2. Article 343
3. Article 168
4. Article 248

Question Number : 7 Question Id : 3007 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 8 Question Id : 3008 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

who among the following Music Composers conferred with prestigious 'Hridayanath Mangeshkar' Award for
20157

Options :

1. [laya Raja

2. AR Raharnan

3. Panka) Udas

4, Fritam Chakraborty

Question Number : 8 Question Id : 3008 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 9 Question Id : 3009 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Ministry of Tribal Welfare of Governament of India was established in the year
Options :
1.1999
2001
1989
. 1885

W N

KX

Question Number : 9 Question Id : 3009 Question Type : MCQ
Correct : 1.0 Wrong : 0.0 '
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Question Number : 10 Question Id : 3010 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

How many religious comrmunities are notified as minority communities in India
Options :

1. Five

2. Seven
3. Six

Eight

o

Question Number : 10 Question Id : 3010 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 11 Question Id : 3011 Question Type : MCQ

Correct : 1,0 Wrong : 0.0

"Hamari Dharohar" is aimed at protecting the cultural heritage of
Options :

Scheduled Tribes

2. Scheduled Castes

i

—

w

Minorities

o

Country

Question Number : 11 Question Id : 3011 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 12 Question Id : 3012 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
"Nayee Roshini" is a scheme for
Options :
Leadership development of Minority women

1
2. Educational development of Tribal women
3
4

—

M

i

Health protection of Minority wormen

Finanaal improvement of women of Scheduled Castes

Question Number : 12 Question Id : 3012 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 13 Question Id : 3013 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Dr.B R Ambedkar International Award 15 given to
Options :

Eest Dalit parhamentanan

—

2. Best Dalit litterateur

Significant contribution to social change

w

4 Significant contribution to the upliftment of Dalits

Question Number : 13 Question Id : 3013 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 14 Question Id : 3014 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Rajiv Awas Yojana is

Options :

1. An Urban Housing scheme

<. & Rural Housing scheme

3. Both Urban and Rural Housing schernes

4. Pensioners' Housing scheme

Question Number : 14 Question Id : 3014 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 15 Question Id : 3015 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The number of official languages included in the Eighth Schedule of the Constitution of India are
Options :

118

20

U na

ey
LA A

25

=

Question Number : 15 Question Id : 3015 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 16 Question Id : 3016 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Governor is justified in recommending President's Rule only

P2

Options :

1 in anticipation of horse-trading in the house

2. in anticipation of loss of majority

3. when the ruling party fails the floor test in the Assemnbly and there is no alternative
4. ol the ground of an unstable government

Question Number : 16 Question Id : 3016 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 17 Question Id : 3017 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Consumer Protection Act was passed in India in

Options :
1 1985
2. 1986
3.19%0
4

1992

Question Number : 17 Question Id : 3017 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Options :

1985
1986

1990
1992

Question Number : 18 Question Id : 3018 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

A gender equal society refers to

Options :

1. Male domminated society

2. Female domnated society

2. Socialist Society

4. No gender discrirmnation in the society

Question Number : 18 Question Id : 3018 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 19 Question Id : 3019 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The National Food Security Act 2013 does not cover

Options :

1. Mid-day Meals scheme

2. Integrated Child Development Services
3. Public Dastribution Systern

4, Supply of food for all

Question Number : 19 Question Id : 3019 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 20 Question Id : 3020 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The chairman of National Green Tribunal is

Options :
1 Justice Sri Krishna

2. Justice Swatanter Kumar
2. Justice L Narasimha Reddy
4 Justice N V Ramana

Question Number : 20 Question Id : 3020 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 21 Question Id : 3021 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who among the following framed the Vernacular Press Act in 1878 7
Options :

1. Mayo

2. Lytton

3. Rippon

4. Dufferin

Question Number : 21 Question Id : 3021 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 22 Question Id : 3022 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who gave the slogan "no Religion, no Caste and no God for mankind” ?
Options :

1. Mahatma Gandhi

2. Swamy Vivekananda

3. Sahadaran Ayyappan

4. Dayananda Saraswati

Question Number : 22 Question Id : 3022 Question Type : MCQ



Correct ;: 1.0 Wrong : 0.0
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Question Number : 23 Question Id : 3023 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who among the following listed 'Seven Social Sins' that will destroy human beings?
Options :

1 Mahatma Gandin

2. ¥inobha Ehave

3. Aurabindo Ghosh

4, Rabindranath Tagore

Question Number : 23 Question Id : 3023 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 24 Question 1d : 3024 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The "Khudai Khidmatgars" Voluntary Force, was founded by
Options :

1. M A Jinnah

2. Dadabhai Nauroj




2 Khan Abdul Gafar Khan
4, Shahwali Khan

Question Number : 24 Question Id : 3024 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 25 Question Id : 3025 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Through which policy the British government erected the Landlord system in India?
Options :

1. The Doctrine of Lapse

2. The Free Trade Policy

2. The Permanent Settlernent

4. The Subsidiary Alliance

Question Number : 25 Question Id : 3025 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 26 Question Id : 3026 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Doctrine of Lapse' was introduced by

Options :

1 Robert Clive

2. Warren Hastings



2 Lord Wilham Bentinck
4 Lord Dalhousie

Question Number : 26 Question Id : 3026 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 27 Question Id : 3027 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

What was the significance of the 'Chauri Chaura' incident?
Options :

1. Launching of the Non Co-operation Moverment

2. Withdrawl of the Non Co-operation Movernent

2 Beginning of the Quit India Movement

4 Ending of the GQuit India Movernent

Question Number : 27 Question Id : 3027 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 28 Question Id : 3028 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Who was the president of the Lahore Session (1929) of Indian National Congress?
Options :

1. Mahatma Gandhi



2. Jawaharlal Nehru
2. Subash Chandra Bose
4 Rajendra Prasad

Question Number : 28 Question Id : 3028 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 29 Question Id : 3029 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Jallianwallah Bagh Massacre took place in the year

Options :
1. 1900

1915
. 1913

1520

= wN

Question Number : 29 Question Id : 3029 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 30 Question Id : 3030 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who wrote the Book "Indian National Congress and the Raj" ?
Options :

1. Pattabhu Sitaramyya

2. BR. Tomlinson



2 K.N.Panikkar

4. Sarvepalli Gopal

Question Number : 30 Question Id : 3030 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 31 Question Id : 3031 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Identify the scholar who for the first time found the The Thousand Pillar Temple Inscription' of Rudradeva

Options :
1. Robert Sewell

2. James Mill
3. J.F.Richards
4, .S Fleet

Question Number : 31 Question Id : 3031 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 32 Question Id : 3032 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

During whose reign, "Hussain Beg Khabchuki”, the Iranian Ambassador visited Golkonda?
Options :

1. Abdulla Qutubshah



2. Mohammed Qutubshah
=, Mohammad Quli Qutubshah
4. Ibrahimn Quh Qutubshan

Question Number : 32 Question Id : 3032 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 33 Question Id : 3033 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who authored the 'National Pledge of India' ?

Options :

1. Rayaprolu Subba Rao

2 Vishwanatha Sathyanarayana

2. Pydumarrn Venkata Subba Rao

4. Tennet Vishwanatham

Question Number : 33 Question Id : 3033 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 34 Question Id : 3034 Question Type : MCQ



Correct : 1.0 Wrong : 0.0
Who was called as the Hyderabadi Ambedkar?

Options :

1. Bhagya Reddy Varma
2. B.S.Venkat Rao

3. Arige Rarmna Swamy
4. Shyam Sunder

Question Number : 34 Question Id : 3034 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 35 Question Id : 3035 Question Type : MCQ

Correct: 1.0 Wrong : 0.0

The Residency Building in Koti was built during the period of which British Resident?
Options :

1. Richard Temple

2. ]J.A Kirk Patrick
3. H Russel
4. M.Davidson

Question Number : 35 Question Id : 3035 Question Type : MCQ
Correet: 1.0 Wrong : 0.0

2 DD VIR0 TP §'BSA VIR IS0 B ow0E0s?

1 8§ BoS
B.0.85), arg¢3s
TS

, 0.BIABIS

Question Number : 36 Question Id : 3036 Question Type : MCQ



Correet : 1.0 Wrong : 0.0
Wwho was the ruler during the 1908 Musi Floods in Hyderabad city 7

Options :

1. Third Nizam
2. Fifth Nizam

3. Sixth Nizam
4. Seventh Nizam

Question Number : 36 Question Id : 3036 Question Type : MCQ
Correct : 1.0 Wrong: 0.0
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Question Number : 37 Question Id : 3037 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Hirnayat Sagar Irrigation Project was named after the
Options :

1 Second son of Osman Al Khan

2. Younger brother of Mahabub Ali Khan

i)

3. Eldest son of Osman Ali Khan
4 Son-in-Law of Osman Ali Khan

Question Number : 37 Question Id : 3037 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 38 Question Id : 3038 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
In the registered motor vehicle number 'TS 09 Z 1234', the unique letter 'Z' denotes the department of

Options :
1. TS Police

2. TS Zoological Departrnent
3 TSRIC
4. TS Fire Services

Question Number : 38 Question Id : 3038 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 39 Question Id : 3039 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Wwho was the last Prime Minister of the Seventh Nizam, Mir Osman Ali Khan?

Options :
1 Al Irmam

. Mir Laag Ali
Maharaja Kishen Pershad

£ WM

Asman Jah

Question Number : 39 Question Id : 3039 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 40 Question Id : 3040 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Who founded the 'Desodharaka Granthamala'?

Options :

1 Mandummula Narsinga Rao
2. Bhagya Reddy Varma

3. Vathkota Alwar Swamy

4 Burgula Ramakrishna Rao

Question Number : 40 Question Id : 3040 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 41 Question Id : 3041 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Which among the following is NOT an example of Tropical Cyclone?
Options :

1 Hurricane

-t

2. Typhoon
2. Willy Willes
4 Elizzard

Question Number : 41 Question Id : 3041 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 42 Question Id : 3042 Question Type : MCQ

Correct : 1.0 Wrong : 0.0
Wwhich one of the following is a highly urbanised State in India at present?

3 @9

Options :

1. Maharashtra
2 Tarmlnadu
2 Kerala

4. West Bengal

Question Number : 42 Question Id : 3042 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 43 Question Id : 3043 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Godwin Austin Peak is located in the Mountain range of

Options :
1 Karakoram

2. Pirpanjal
3. Dhualadhar
4, Siwalik

Question Number : 43 Question Id : 3043 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 44 Question Id : 3044 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Southern most hills of Indian Peninsula are

Options :
1. Milgin Hills

.....

2. Maikal Hills
4. Mahadeo Hills

Question Number : 44 Question Id : 3044 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 45 Question Id : 3045 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
Which among the following is NOT a west flowing river in India?

Options :
1. Narmada

2. Mahanadi
3. Tapt
4. Sharavat

Question Number : 45 Question Id : 3045 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 46 Question Id : 3046 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The least populated district in Telangana according to 2011 Census?
Options :

Adilabad

g

2. Kharmmarm
3. Mahabubnagar
4, Mizarmabad

Question Number : 46 Question Id : 3046 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 47 Question Id : 3047 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The normal annual rainfall of Telangana State is about

1

W%}

51}

4

Options ;

206 mm
921 mm
890 mm
892 mm

Bow o=

Question Number : 47 Question Id : 3047 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 48 Question Id : 3048 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Forest Cover in Telangana State is
Options :

1. 18.23%

2. 23.89%

3. 28.2%

4. 31.02%

Question Number : 48 Question Id : 3048 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

SO0 0°g 08" ¥ IYES® TS0?

18.23 P80
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Question Number : 49 Question Id : 3049 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Bayyaram is known for
Options :

1. Coal

2 Asbestos

3 Iron Ore

4, Gold

Question Number : 49 Question Id : 3049 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 50 Question Id : 3050 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The length of Nehru Outer Ring Road (ORR) is about

Options :
1 152 ks

2 182 kms
3. 160 ks
4 172 kms

Question Number : 50 Question Id : 3050 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 51 Question Id : 3051 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The rate of interest charged by REBI on the banks on their short term borrowings from REI, is called
Options :

1. CRR

2. SLR

3. Bank Rate

4. Repo Rate

Question Number : 51 Question Id : 3051 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 52 Question Id : 3052 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Among the following, which one is the Auto Emission Norm in major cities of India at present?
Options :

1. BS -1V

2 LVSN -11

3.BS -1
4 BSX - 111

Question Number : 52 Question Id : 3052 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 53 Question Id : 3053 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

JNNURM scheme for infrastructure develpoment was introduced for
Options :

1, Urban areas

2. Fural areas

3. Urban & Rural areas

4, Hill areas

Question Number : 53 Question Id : 3053 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 54 Question Id : 3054 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Chairman of the 14th Finance Comrmission of India is
Options :

1. Dr.C Rangarajan

2. Dr.Raghuram Rajan

3. Dr ¥ Venugopal Reddy

4. Dr, Abhijt Sen

Question Number : 54 Question Id : 3054 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 55 Question Id : 3055 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The National Income of India is estimated by

Options :

1. RBI (Reserve Bank of India)

2. CSO (Central Statishical Orgamusation)

3. SEEI (Stock Exchange Board of India)

4. Planrng Commussion

1

93]



Question Number : 55 Question Id : 3055 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Options :

1 e30¢ ergof e Rodasr (RBI)
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4 Ler¥s° dooo (Planning Commission)

Question Number : 56 Question Id : 3056 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The percentage of agricultural labourers in total main workers in Telangana State, at present is about
Options :

1. 25%

2. 33.45%

3. 40.01%

4, 42.45%

Question Number : 56 Question Id : 3056 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Options :

. 25 T80
3345 380
_ 40.01 250

. 42.45 780

Question Number : 57 Question Id : 3057 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

As per 2011 Census, Literacy Rate of the Scheduled Tribes in Telangana state is
Options :



49.51%
58.9%
64.2%
65.5%
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Question Number : 57 Question Id : 3057 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

2011 2arer B8 o H5Eo Boorr T°H08” nErgy 3w Bgordgs.

Options :

49.51 30
58.90 30
164.20 380
, 65.50 30

)

Question Number : 58 Question Id : 3058 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The average size of the land holdings in Telangana State, at present is about
Options :

1. 2.5 hectares

2.00 hectares

W n

1.12 hectares

4, 0.50 hectares

Question Number : 58 Question Id : 3058 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 59 Question Id : 3059 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Name of the Cricketer in the world to have hit three consecutive centuries in his first three Tests
Options :

1. Brian Lara



Sachin Tendulkar

w N

. ¥Vivian Richards
Mohd, Azharuddin

W

Question Number : 59 Question Id : 3059 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 60 Question Id : 3060 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
Per capita Income of Telangana in 2014-15 in current prices is about Rs

Options :

1. Above one Lakh

2. One Lakh

3. Less than one Lakh
4. 60,000 only

Question Number : 60 Question Id : 3060 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 61 Question Id : 3061 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The first woman Supreme Court Judge recently appointed in Afghanistan is



Options :

1. Malalai Ishq Jai
2. Mussouda Jalal
3. Mariam Durrarni
4 Amsa Rasouh

Question Number : 61 Question Id : 3061 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 62 Question Id : 3062 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Country that formed a Separate Force called "Federal Counter Terrorism Force" to Suppress terrorism
recently?

Options :

1. India

2. Pakistan
Afghanistan

L

Sr1 Lanka

W

Question Number : 62 Question Id : 3062 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 63 Question Id : 3063 Question Type : MCQ

Correct: 1.0 Wrong : 0.0

The number of times India elected so far to the Security Council of UNO?
Options :

1. Seven

2. 5ix

3. Four

4 Three

Question Number : 63 Question Id : 3063 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

DEgoreg D& B Hokd8 erdsRFo
RN STE ) HT°ZO3Tre0 DINS0E?

Options :

NS

1

Zleh!

TPOOXD
DOT° ¢80

4
Question Number : 64 Question Id : 3064 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The former name of the New Development Bank?
Options :

1. International Monetory Fund

0

wu

2. BRICS Developrment Bank
3. Asian Developrment Bank
4. World Bank

Question Number : 64 Question Id : 3064 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 65 Question Id : 3065 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
who is slated to be the next Chief Justice of India in Decermber, 2015?

Options :
1. Justice ].5 Khehar

Justice Dipak Mishra
Justice T §. Thakur
Justice Madan B.Lokur

H W o

Question Number : 65 Question Id : 3065 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 66 Question Id : 3066 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

What is the name of the Sculptor of the Buddha Statue installed in Hussainsagar?
Options :

1. Uma Maheshwara Stapati

(18]

Ganapati Stapati
Aditya Stapati
Narayana Stapati

o W)

Question Number : 66 Question Id : 3066 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 67 Question Id : 3067 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

In the landmark judgement delivered by the Supreme Court in October 2015 relating to the Constitutional
validity of the National Judicial Appointments Comrmission, the minority judgement was delivered by

Options :

1. Justice |.5 Khehar

2 Justice ] Chalarmeshwar
3. Justice Madan B Lokur
4 Justice Kurian

Question Number : 67 Question Id : 3067 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 68 Question Id : 3068 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which Constitutional Amendrment had directed the state to provide free legal aid to deserving persons by
suitable legislation or scheme?

Options :
39th Amendment

42nd Amendment
44th Amendment
52nd Amendment

B o=

Question Number : 68 Question Id : 3068 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 69 Question Id : 3069 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The ITDA (Integrated Tribal Development Authority) project areas are generally contiguous areas of the size of
a Tehsil or Block or more, in which the Scheduled Tribes Population is

Options :

1. 30% or more of the total
2. 40% or more of the total
3. 50% or more of the total

4. 60% or more of the total

Question Number : 69 Question Id : 3069 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 70 Question Id : 3070 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which Provision of the Constitution abolishes untouchability
Options :

1. Article 15

2 Article 16



2 Article 17

4, Article 18

Question Number : 70 Question Id : 3070 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 71 Question Id : 3071 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Which movie was first produced by Shyam Eenegal in Telangana?
Options :

1. Nishanth

2 Bazar

2. Bobby

4. Ankur

Question Number : 71 Question Id : 3071 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 72 Question 1d : 3072 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The original name of the popular cine actress Tabu from Hyderabd 15
Options :
Tabassum Khanurn

ta)

4

Tabrez Fathuma

00 S 5 R

Tabassum Hashm



4. Rehana &Azmi

Question Number : 72 Question Id : 3072 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 73 Question Id : 3073 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Hyderabadi poet who wrote the Telugu song "Patnarmlo Shalibanda, Peraina Golconda”

Options :
1. C. Narayana Reddy

2. A Venugopal
3. Dasharadhi Rangacharya
4 MN.Gop

Question Number : 73 Question Id : 3073 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 74 Question Id : 3074 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The major Fertilizer plant being revived in Telangana is situated in the district of
Options :

1. Karimnagar

2. Khammam

3. Adilabad



4 Warangal

Question Number : 74 Question Id : 3074 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 75 Question Id : 3075 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Medak Church was built under the stewardship of

Options :
1. Henry Russel

2. Charles Walker Posnett
2. William Parker
4. S.Azaraiah

Question Number : 75 Question Id : 3075 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 76 Question Id : 3076 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Where is the 'Nagoba Jatara' held in Telangana?
Options :



1 Edupavala
2. Basara

3 Keshlapur
4

Jodeghat

Question Number : 76 Question Id : 3076 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 77 Question Id : 3077 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Name the place and district in Telangana which has one of the eighteen (18) Shakthi Pitamns
Options :

1. Kanteswar, Nizamabad

3

2. Kaleshwaram, Karimnagar
2. Kolanupaka, Nalgonda
4 Alampur, Mahabubnagar

Question Number : 77 Question Id : 3077 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 78 Question Id : 3078 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which among the following is the cleanest source of energy?
Options :



1 Nuclear energy
2. Wind energy
3. Hydel Power

4. Fossil fuel

Question Number : 78 Question Id : 3078 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 79 Question Id : 3079 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Ozone layer thickness is expressed in terms of
Options :

1 CGPM units

2. Radians units

3 Coulomb units

4. Dobson units

Question Number : 79 Question Id : 3079 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 80 Question Id : 3080 Question Type : MCQ
Correct: 1.0 Wrong : 0.0



Ananthagiri of Ranga Reddy district 15 known for

Options :
1. Jute Mills

2. Tiger Forest
3. T B Sanitorum
4. Water Falls

Question Number : 80 Question Id : 3080 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 81 Question Id : 3081 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Untreated industrial effluents from the Patancheruvu Industrial area peoisoned the ground water of
Options :

1 Nalla Vagu

2. Suddha Vagu
3. Nakka Vagu
4. Moola Vagu

Question Number : 81 Question Id : 3081 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 82 Question Id : 3082 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The October 2015 earthquake which affected Afghanistan and Pakistan is originated in the mountains of

Options :
1 Zaskar

2. Alpme
3. Karakoram
4 Hindukush

Question Number : 82 Question Id : 3082 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 83 Question Id : 3083 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Prajwala' a Hyderabad based organisation working for rescuing and rehabilitating the sex-trafficked victims,
was founded by

Options :
1. Amritha Ahluwalia

Tejdeep Kaur Menon
. Sunitha Krishnan
Shantha Sinha

n

o L)

Question Number : 83 Question Id : 3083 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

8 93000800 YES darer BabadsHd) Srdod 8ol 78
DSoar0 Ed0 TrETTerd Bodorr HUBN) Wegw’ D0y SgSREHE0?

Options :

1 ©0)B BIYIT O
_BEHD TE DI



e 83S

)

o
TOSVT,

"
o

Question Number : 84 Question Id : 3084 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

To constitute the offence of 'Dowry Death', a married woman must have died under unnatural circumnstances
within

Options :

S years of marriage

& years of marriage

[y

7 years of marriage

Sl N

. 8 years of marriage

Question Number : 84 Question Id : 3084 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 85 Question Id : 3085 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Name the place and district where the Surya Temple is located in Telangana?

Options :
1 Kolanupaka, Nalgonda

2. Basara, Adilabad
3. Vikarabad, Ranga Reddy
4. Jainur, Adilabad

Question Number : 85 Question Id : 3085 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 86 Question Id : 3086 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Recently Grama Jyothi scherne 15 introduced in Telangana. [tS main amm is to

Options :

1. electnify all villages

2. electrify SC & ST houses
2. achieve self sufficiency

4 acheve Swachcha Telangana

Question Number : 86 Question Id : 3086 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 87 Question Id : 3087 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Kolanupaka in Nalgonda district is known for

Options :

1. Surya Ternple

2. Buddhist Temple

3. Jamn Temple

4 Shakthi Pitam

Question Number : 87 Question Id : 3087 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 88 Question Id : 3088 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Under wihuch provision of the Constitution, can the Government impose Prohibition on Consumption of
mntoxicating liquors?

Options :

Article 41
Article 45
Article 46

Article 47

W N =

o

Question Number : 88 Question Id : 3088 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 89 Question Id : 3089 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Panchayats (Extension to the Scheduled Areas) Act [PESA Act] was made by the Parliament in the year

Options :
1. 1885

. 1996
. 1897

1998

RSV

Question Number : 89 Question Id : 3089 Question Type : MCQ



Correct : 1.0 Wrong : 0.0
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FEI00ET & 808 Dod)Boes® BHOH?

Options :

1995

1

1996

=

1997
1998

Question Number : 90 Question Id : 3090 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

wWhich is a variant of 'Yakshagana' performed widely across Telangana?
Options :
1. Burra katha

2. Oggu katha
2. Chidatala Ramayanarm

4, Chindu Ehagavatham

Question Number : 90 Question Id : 3090 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

808 7" Bomrae® IYYBom NEB)WAE
OETS0 B, & ErHo AB?

Options :

. 2UBES

TS

_ WES© T°HAIr00€0
, Do riidso

Question Number : 91 Question Id : 3091 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The first woman President of Nepal is

Options :
1 Rani Aishwarya

2. Chandi Devi Bhandari
2. Bidhya Devi Ehandan



4 Surrnutra Koirala

Question Number : 91 Question Id : 3091 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

SPS BF0 B0EINEE Hoire ©EgET0?

Options :

O°cd ea%ogég
F033 Fomd
DB Foad

QNS §00T

1

Mo

4

Question Number : 92 Question Id : 3092 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Integrated Child Developrnent Scheme (CDS) is meant for the children in the age group of

Options :

1. 0-2 years
2. 0-4 years
3. 0-5 years
4. 0-6 years

Question Number : 92 Question Id : 3092 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

DD 3% B HPEo (ICDS) 80b ST &)
o0 JP3otadod?

Options :

0-3 Dodedyoren

1

0-4 Jod&)oren

N

0-5 Sodefyoren
0-6 Sodesyoren

w

4

Question Number : 93 Question Id : 3093 Question Type : MCQ

Correct: 1.0 Wrong : 0.0

The founder of Edhi Foundation, the Pakistani group that took care of the Indian girl Geeta during her 15 year
stay in Pakistan ‘



Options :

1. Fehrmuda Mirza

2 Fatuma Al Edh

3. Bilquis Bano Edhi
4. Nusrat Bano Ediu

Question Number : 93 Question Id : 3093 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

ESBTA8 Bodd rdE L8 15 HodH)oren FEPIS® Hos§oND
$0 TORAS B H0Y G0, SgILHE?

Options :

DE DT
PS> © &
REAL)RSIISOIR TN
, RSB 2 6

Question Number : 94 Question Id : 3094 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

In Motor Vehicles, SUV means
Options :

1. Speaal Utility Vehicle

2. Speed Unlimited Vehicle

3. Sports Utility Vehicle

4. Space Utility Vehicle

Question Number : 94 Question Id : 3094 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

SETPE TCTI DBerNeS® SUV 9&me?

Options :

)46 B0 FerES
)6 o OBE Ier8S
G B0 Ir8S
)0 w08 3rES

Question Number : 95 Question Id : 3095 Question Type : MCQ



Correct : 1.0 Wrong : 0.0

The expression 'Jamidika' in Telangana is
Options :

1. A musical instrument

2. An mnstrument used for stitching shoes
3. An instrument used to chase away birds
4 A fire stone

Question Number : 95 Question Id : 3095 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

BAGE 058 B8 H000B0N0H?

Options :

. %8 arondg H8880
28 Badyen &F HdES0
DO $B3 HdESo

- BHd0ETP oW

[
2

Question Number : 96 Question Id : 3096 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
In which of the following villages the Ancient Buddhist Stupa is located

Options :

1. Veduru Gatta
2. Dhulikatta

3. Kolanupaka
4. Bodhan

Question Number : 96 Question Id : 3096 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

& 808 QS @IS F'¢ dpdo &) (P 62

Options :

SIAIC
STy

Sodors
XA

Question Number : 97 Question Id : 3097 Question Type : MCQ

s 3
“—

¥ ]



Correct : 1.0 Wrong : 0.0
Who is the author of the Novel "Gona Ganna Reddy" ?

Options :

1 Vattikota Alwar Swamny

2. Suravaram Pratapa Reddy
3. Adavi Bapiraju

4 Kaloj Narayana Rao

Question Number : 97 Question Id : 3097 Question Type : MCQ
Correet : 1.0 Wrong : 0.0

S Ea0q S E8008 ISE?

Options :

DEIEE) g
EIT0 (RITHOG
OE) LT 078

5°§°2 J°0°O30ET°N)

Question Number : 98 Question Id : 3098 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The expression of the word "Rumalu” in Telangana is

Options :
1. Cloth worn over shoulders

2. Headgear
2. Waist cloth
Half Saree

o

Question Number : 98 Question Id : 3098 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

SOOMe (005 ‘Brdoren’ edm?

oo
650 &P

SEIB0E WoenET $Jo
5,68

Question Number : 99 Question Id : 3099 Question Type : MCQ

(1%

w



Correct : 1.0 Wrong : 0.0
which of the following is considered as the single largest Dioceses in Asia?

Options :

1. Dornakel Diocese
2. Secunderabad Diocese

2. Medalk Diocese
4 Nalgonda Diocese

Question Number : 99 Question Id : 3099 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

808 TS’ IO BHArS'I ©B DG BODT 9HG Todod?

Options :

Question Number : 100 Question Id : 3100 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

In 2014-15, in current prices Telangana GSDP is about

Options :
1. 4.3 Lakh crores

2. 5.5 Lakh crores
3. 6.7 Lakh crores
4. 7 9 Lakh crores

Question Number : 100 Question Id : 3100 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

2014-1565° $ZHrd SS0S® Bvome ooy dreo w88 (GSDP)
e (Er.0°)

Options :

4.3 oo &

5.5 ofo §en
6.7 oo ey



7.9 0§ 5

Question Number : 101 Question Id : 3101 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

AS per Budget estimates in 2015-16, Telangana government's total payments of revenue and capital accounts
are

Options :

1 Rs.One Lakh crores

2. rore than Rs One Lakh crores
2 less than Rs. One Lakh crores

more than Rs 2 Lakh crores

N

Question Number ; 101 Question Id : 3101 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

S0 2015-16 2§ woda e (18 E0 V307,
Srodd P’ BYodo 3Bo BSedd-

Options :

1 8. ©F 8¢

. 0f et prr

Id?. of 8¢ ) S50
S, Do w0 §EE e

L

Question Number : 102 Question Id : 3102 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

In the 2015-16 Annual Plan of Telangana, which sector is allocated nearly S50% of the total allocations?
Options :

1 Irrigation & Rural Developrmernt

2. Agriculture & Irrigation

3. Soaal Sector

o

. Information Technology

Question Number : 102 Question Id : 3102 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Soorre g, 2015-16 a0 (HeTr@8S® 808 TS’ O Somrwdd
o) 50 80 A0 Bronos) BIE?

Options :
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Question Number : 103 Question Id : 3103 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Indian citizen who won a Nobel prize in 2009

Options :
1. ¥V § Naipaul
2.V Kamakrishnan

3, Amartya Sen

4 Mother Teresa

Question Number : 103 Question Id : 3103 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

2009¢5° ‘SFBS 2550508 FoOS 28R FPEE) WSE?

Options :

| Q.2R.300FS
é’).cmfwéagi

- O0GgOD
. 066 Bbar

Question Number : 104 Question Id : 3104 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who is the creator of India's first test tube baby ?
Options :

1. Devi Prasad Shetty

2. Subhash Mukhopadhyay

3. Pratap Reddy

4. Naresh Trehan

(%)

Question Number : 104 Question Id : 3104 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

rESBEY DnLBNSE ‘B rgh BY B8ES.



Options :

BHFEFE
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w

Question Number : 105 Question Id : 3105 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Who was the President of the first Indian Science Congress meeting held in Kolkata in 1914
Options :

1. Prafulla Chandra Roy

2. JC Bose

3. Ashutosh Mukherjee

4. Leonard Rogers

Question Number : 105 Question Id : 3105 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

1914¢5° BSETS® 2008 0YINEE ards DY) sToRD’
QY B BEFES HIT0N0d ASE?

Options :

QDL FoT oD
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Ly

Question Number : 106 Question Id : 3106 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which one is the biggest planetarium in India?

Options :

1. Birla Planetariurn, Hyderabad
Z. Birla Flanetariurn, Kolkata

3. Guwahati Planetarium

4. Nehru Planetarium, Mumbai

Question Number : 106 Question Id : 3106 Question Type : MCQ



rESBIOS @B NG SESTO 67

Options :
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Question Number : 107 Question Id : 3107 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Who is known as the father of Indian Nuclear Programme?

Options :

1 AP] Abdul Kalam
2. Homi ] Bhabha

3. Vikram Sarabhai
4 Meghnad Saha

Question Number : 107 Question Id : 3107 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

TGS ‘@0 SEYED DFHTVRT WHMoNS Y33,

1 Q.E’).a.@agef ger0
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Question Number : 108 Question Id : 3108 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which one is India's first Indigenous Satellite Launch Vehicle?

Options :
1. PSLY
2. ASLV
3 GSLY

4. SLV-3

Question Number : 108 Question Id : 3108 Question Type : MCQ



rGSBTY BPEE BhckH wHET FEE TE.

Options :
1. PSLV

. ASLV
GSLV

SLY-3

uw M

o

Question Number : 109 Question Id : 3109 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Nuclear Test conducted in India under the code-name of Smiling Buddha in the year

Options :
1973
1974
1988

1996

B W N

Question Number : 109 Question Id : 3109 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

PO0f ang’ ©3 H0ES 08 rdERToS” weHdE 2dAS HodE)o?
Options :
1973
1974
1988
1996

I et

AW

Question Number : 110 Question Id : 3110 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
In Telangana, the flowers used in the preparation of natural colours which are used on the occasion of Holi

Options :
1 Gunugu
2. Modugu
3. Tangedu
4. Banthi

Question Number : 110 Question Id : 3110 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

SO0 (P0$05° FFP HokKe® &HBrAoB
DTeRd oo $05r08 FEad HPY?

Options :

. B0e0id
R vilaNlee
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Question Number : 111 Question Id : 3111 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which gas is also known as Laughing Gas?
Options :

1 Nitrogen

2. Mitrous Oxide

3

Chlorine

£

. Methane

Question Number : 111 Question Id : 3111 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

‘00 TR B & FCHK HeFE?

Options :

B
365 ¢pB
g
B

Question Number : 112 Question Id : 3112 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who is the first recipient of Dr A.P.]. Abdul Kalam Award, instituted by Government of Tamilnadu?
Options :

1. Prof Mustansir Barma

2. N.Valarmathi

2. Jothimani Gowthaman

4 T K. Anuradha

Question Number : 112 Question Id : 3112 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

SFIE (2DB00 DBTNES 2.0.8.0206 Serro
BTG FOAS I0KE H58?

Options :
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Question Number : 113 Question Id : 3113 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Which district in India has highest number of e-toilets in its schools?
Options :

Guntur district

no

=t

Srikakularm district
Mellore district

= W

Kurnool district

Question Number : 113 Question Id : 3113 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

rE8RT0e° FETOS, VSRS &-trondiy o e IB?

Options :

hodardd
3,5°80¢0
SOrd
ST

Question Number : 114 Question Id : 3114 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Brij Mohan Lall Munjal, who passed away recently, was founder and Chairman of
Options :
. Hero Cycles Limited
. Hindustan Motors
. Apollo Tyres
Marut: Udyog

W N -

o

Question Number : 114 Question Id : 3114 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 115 Question Id : 3115 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which scherne of Government of India (Gol) has been recognised by the Guinness Book of World Records
recently?

Options :
1. Direct Benefit transfer of LPG

2. Pradnan Mantri Jan Dhan Yojana
3. Atal Mission for Rejuvenation and Urban Transforamtion

4 Pradhan Mantri Awas Yojana

Question Number : 115 Question Id : 3115 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

addo NYD w08 ¥h I6G 85°F) HBONS rES HALS] HEE0 IB?

Options :

30§ B0 (ErQ)nd ¥ o
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Question Number : 116 Question Id : 3116 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which Indian Cricketer was Popular as ' The Wall?
Options :

1. Sunil Gavaskar

2. Rahul Dravid



3. Saurav Ganguly

4. Sachin Tendulkar

Question Number : 116 Question Id : 3116 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

G S I (DG FodS ards 8866

Options :

VS {3, &
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8 KoKTd
dAQ Bodkre) b

Question Number : 117 Question Id : 3117 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
In which country is the Tennis Grandslam Tournament played on Clay Court?

Options :
1 Amenca

2. England
2. France

4. Australia

Question Number : 117 Question Id : 3117 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

SGPERD BE2E BYD (TodT N L0 ) BF0S® 2385080087

Options :

DISleloy

aor&;o@
)
4 @@@oﬁr

Question Number : 118 Question Id : 3118 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

"Think Different” is the tagline of which popular electronic company?
Options :

1. Nokia

2. Apple



3 Samsung
4. Ericson

Question Number : 118 Question Id : 3118 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

‘®0of 33008 3 LrABIK GHITN0B VTIF Lo B?

Options :

. O8sr

. 8nd
S ISTela
DOEI

Question Number : 119 Question Id : 3119 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
* First Flight" is afan
Options :
. Aeroplane between Hyderabad and New York
Chain of Beauty Parlours in Murnbai

rJ

[81]

(58] Py =

Aircraft manufacturer

o

Courier Cormpany

Question Number : 119 Question Id : 3119 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

DY R 9MSH @8-

Options :
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Question Number : 120 Question Id : 3120 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Wwhich festival in Telangana is also known as 'Peerla Panduga' ?

[ %]

(Fi]

oI

Options :
Ramzan
Bakrid
Moharram

Wl ny e



4 Jagne ki Rat

Question Number : 120 Question Id : 3120 Question Type : MCQ
Correct : 1.0 Wrong: 0.0
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Question Number : 121 Question Id : 3121 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate article:

[ went to ——=—==—v=== airport at 6. 00 AM yesterday
Options :

1. in

2 the

3.3

4. an

Question Number : 121 Question Id : 3121 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate article:
I went to ——======-—- airport at 6.00 AM yesterday

Options :
1. 1n

the

N

w

a

o

an

Question Number : 122 Question Id : 3122 Question Type : MCQ
Correct : 1.0 Wrong: 0.0

Fill in the blank with appropriate article:
She is ——=—====—~ honest person.

Options :
1.an
2a

4. the

Question Number : 122 Question Id : 3122 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate article:

She i ————e———x honest person.



Options :
1.an
2.3
3.of

4 the

Question Number : 123 Question Id : 3123 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate article:
[ cannot understand how —--------- person like him can becorme Chairman

Options :
1.an

2. the
on
4 a

w

Question Number : 123 Question Id : 3123 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate article:

[ cannot understand how --—------- person like hirmn can becorne Chairmarn.
Options :

1. an

2. the

3

on
4 a

Question Number : 124 Question Id : 3124 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate preposition:
Pradeep was late again. He never comes —=-=-===-- time.

Options :
1. of

2.0n
3.1n

ofa

at

Question Number : 124 Question Id : 3124 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate preposition:
Pradeep was late again. He never comes ~----=--- time.

Options :
1. of

2.0n
3

. in

oS

at

Question Number : 125 Question Id : 3125 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate preposition:

Chief Minister K. Chandrashekar Rao is going there -------- three weeks

Options :



. Since
from
for
of

U SRS

Question Number : 125 Question Id : 3125 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate preposition:

Chief Minister K. Chandrashekar Rao is going there ~-—---—- three weeks,
Options :

1. since

2. from

3. for

4 of

Question Number : 126 Question Id : 3126 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate preposition:

She's the kind of girl who knows everything --------- everyone,

Options :
1. about

2.in
3. far
4 on

Question Number : 126 Question Id : 3126 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate preposition:
She's the kind of girl who knows everything —-------- Everyorne.

Options :
1. about
2.1n
3 far
4. on

Question Number : 127 Question Id : 3127 Question Type : MCQ
Correct : 1.0 Wrong : 0,0

Fill in the blank with appropriate answer:

Rohit didn't drink his own coffee. He drank —-------——- i
Options :

1. her

2. s

3. hers

4. hum

Question Number : 127 Question Id : 3127 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate answer:
Rohit didn't drink his own coffee. He drank ——————————- ;

Options :
1. her



2 his
3. hers
4. lum

Question Number : 128 Question Id : 3128 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate answer:
Being an orphan is hard. It's not easy to grow up -------- parents.

Options :

1. wath

2. without
3. wathin
4. not

Question Number : 128 Question Id : 3128 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate answer:
Being an orphan is hard. It's not easy to grow up -------- parents.

Question Number : 129 Question Id : 3129 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank wath appropriate answer:
The temperature will go down to 10 degrees -------—- zero tonight.

Options :

1. beneath

2. under

2 underground

T

. below

Question Number : 129 Question Id : 3129 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate answer:
The temperature will 20 down to 10 degrees —-------- zero tonight.

Options :

1. beneath
under

. undergrourid
below

oW N

Question Number : 130 Question Id : 3130 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the Antonym for the underlined word:
Q: Do you feel better?

A:No, | fee] ~———-—————- .

Options :

1. good



2. happy
3. worse

4. bad

Question Number : 130 Question Id : 3130 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the Antonym for the underlined word:
Q: Do you feel better?

A: No, I fee]l —————-=-e=-

Options :
. good

happy
WOTrSe
bad

y

SV v

=

Question Number : 131 Question Id : 3131 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the Antonym for the underlined word:

This towel is damp.

GIVE MR § =~==———mrme one,

Question Number : 131 Question Id : 3131 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the Antonym for the underlined word:

This towel is damp.

Givemeg ---——--————- one.

Options :

1. wet

a

Cdry
3 soaked
4. moist

Question Number : 132 Question Id : 3132 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the Antonym for the underlined word:
Angola is not a safe country to visit. it is very -------—-- ;

Options :

1. dangerous
2. secured
3. harmless

4. protected

Question Number : 132 Question Id : 3132 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the Antonym for the underlined word:
Angola is not a safe country to visit. It is very -—------—-- ;



Options :

1. dangerous
2. secured
3. harmiless
4. protected

Question Number : 133 Question Id : 3133 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate Tense form:

Armulu was ill because she had ------ too much chocolate.
Options :

1 ate

2. eat

3. eaten
4 eated

Question Number : 133 Question Id : 3133 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Fill in the blank with appropriate Tense form:

Amulu was ill because she had ------ too much chocolate.

Options :
1. ate

eat
. éaten

VU )

eated

Question Number : 134 Question Id : 3134 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate Tense form:

The TSPSC hasn't —————— the notification yet.

Options :

1. complete

2. finalize

3. final yet

4 finalized

Question Number : 134 Question Id : 3134 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate Tense form:

The TSPSC hasn't ———-—-—- the notification yet,

Options :

. complete

)

2. finalize
3. final yet
4 finalized

Question Number : 135 Question Id : 3135 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Fill in the blank with appropriate Tense form:

The painting was --------- in the middle of the night.

Options :
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Question Number : 135 Question Id : 3135 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Fill in the blank with appropriate Tense form:

The painting was ———----—- in the middle of the night.
Options :

stolen

=

stole

stee]

SOWwn

steal

Question Number : 136 Question Id : 3136 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

IfA>F,L<A M=N;N <A, then which of the following is true?
Options :

L=F

M>A

N>F

A>M

w N =

Ja

Question Number : 136 Question Id : 3136 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

A>FL<AM=N;N<A®owdtond & 80 F8S* 28 58585007
Options :
1. Li=F
2M>A
N>F
A>M

oW

Question Number : 137 Question Id : 3137 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

What should corne in the place of question mark in the following series?
116,131, 154, 187, 232, ?

Options :
1. 301
2. 299
2 289
4 291

Question Number : 137 Question Id : 3137 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

& 808 DO (series)es® 2" Pdoes® @ Howg $:3087?
116, 131, 1564, 187, 232, ?



Options :
. 301

299
. 289

291

LW o=

Question Number : 138 Question Id : 3138 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

If every vowel in the word becomes the next letter in the alphabet and every consonant becomes the previous
letter in the alphabet, then how ENTHUSIASM is written?

Options :

1. FMSGUREJRL
2. FMSGVR]ERL
3. FMGSVRJERL
4 FMGSV]JRERL

Question Number : 138 Question Id : 3138 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

067 ©FTS’ HE vy (vowel) & S8 vidors, B8 e
ORS00 @S0y So788 ENTHUSIASM @93 S8 Qere S5vde0087?

Options :

1. FMSGUREJRL
2. FMSGVR]JBRL
3. FMGSVR JBRL
4. FMGSVJRERL

Question Number : 139 Question Id : 3139 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

There are five students - P, Q R, S and T. In an exam each one scored different marks. Q has scored more
marks than T and R. S has not scored the highest marks among them. P scored more marks than Q. S scored
more marks than R and T. Who scored the second lowest mark among them?

Options :

1.Q

2. Either T or S
3. EitherSorQ
4 Either Tor R

Question Number : 139 Question Id : 3139 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

P.Q.R, S 508050 T ®3 0ofHhd Qirdoe, a8 H85S° a*docdd 36 56
Srdye0 darjon. T LHdasn Ro ) Q50 Q89 S5y o0 Samyomn.

S§0 ©0BETY) YD Srdn o TeBE. Q Ea7) P8 2895 Srdy 0 Saryomn.
R, To §a7) S§0 Q89,S S0 Samyon. DB S0od Dod Fdod’

QS TE?



Options :

, Q
TS& S
S Q

. T8 R

Question Number : 140 Question Id : 3140 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Numbers 1 to 6 are written on six sides of a cube as given above. Identify the number opposite to 3.

Options :

B W Mo
m N B

—

Question Number : 140 Question Id : 3140 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

2.8 V8 R) 6 JogropS Sobd Jgor 1 X00w 6 ®osLY HImow.
350 @HJVPOMT @ WOS FoLNOoH?

Options :

—
N

RSO
= 0 M

Question Number : 141 Question Id : 3141 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

If the ratio between cost price and sales price of an article is 1/4 : 1/3, then which of the following is true?
Options :



1. There is no profit
2. There is 25% profit
3. Thereis 12.5 % profit

4, There 1s 33.23% profit

Question Number : 141 Question Id : 3141 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

28 SD) BwE), §X) FJo HBAS» WS Fo g ANE
174 : 1/3 ®008 & 808 TES* A HSgS0?

Options :

o B

25 3850 erjo
- 12.5 3¢50 egjo

133.33 F80 g0

4

Question Number : 142 Question Id : 3142 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

What should come in the place of question mark?
99X 105+77-20-24 +(292+ 133)=-_7
Options :
1 13466
. 14356
. 15666
15466

LW

Question Number : 142 Question Id : 3142 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

7 FS0S* A dopg Hyod?
99x 105+77-20-24+(29%+ 13%) =7

Options :

1 13466
2. 14356
3 15666
4. 154686

Question Number : 143 Question Id : 3143 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



What should comne in the place of question mark?
51.5%0f 3640 + 62.5%of 1272 = ?

Options :
1 26964

2. 2679.4
3. 26696
4 27696

Question Number : 143 Question Id : 3143 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

7 PS0S* Q Doy H0H?
51.5% o1 3640 + 62.5% of 1272 =7

Options :
1. 2696.4

2
3. 2669.6
4.2

Question Number : 144 Question Id : 3144 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Directions: In the question given below there is a staterment followed by two courses of actions numbered 1 and
I1. A course of action is a step or administrative decision to be taken for improvement, follow-up or further
action in regard to the problerm, policy, etc. On the basis of the information given in the statement, you have to
assume everything in the statement to be true, and then decide which of the suggested course(s) of action
logically follow(s) for pursuing.

Statement: [n India many farmers are committing suicides by consuming pesticides - a comment by World
Health Organisation(WHO).

Course of Action I: Pesticides must be banned in India.

Course of Action II: Many Indian farmers keep their pesticide supply within easy access, for example by
storing it in the family home. Limiting access to pesticides by building centralized pesticide storage facilities
away from people's homes can help reduce suicides.

Give answer:

Options :

1. If only Course of Action () is suggested
. If only Course of Action (1) 1s suggested

P

If neither Course of Action () nor Course of Action (1) is suggested

£ W

. 1f both Course of Action () and Course of Action (1) are suggested

Question Number : 144 Question Id : 3144 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Options :

| BRES0DS $6;5-1 S
BT S0DS w6511 S
QY)S Dok BHFI0dDE SIEren 558

B I0dS SE5-1 5080850 BIE 5D -1

2.

W

Question Number : 145 Question Id : 3145 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Directions: In the question given below, there is a staternent followed by two assumptions numbered () and
(D). An assumption is something supposed or taken for granted, You have to consider the staterment and the
given assumptions and decide which of the assumption(s) is/are implicit in the statement

Statement: "This land belongs to Government of Telangana; Trespassers will be prosecuted * A notice board
displayed in a vacant land in Karimnagar.

Assumption . Governmment does not have vacant lands in other cities,
Assumption [I: People do not trespass as they fear prosecution.

Give answer:

Options :

1. If only assumption () is implicit
2. If only assumption (1) i5 implicit
3. If neither {) nor {I) is implicit

4. If both () and {I) are implicit

Question Number : 145 Question Id : 3145 Question Type : MCQ



Correct : 1.0 Wrong : 0.0
SrESon: € (BHS® F (HELS (argument), 30805 Doss I

@oTe '“af- Trow. of |HELS BoRERE Gudrindss> Jereom

LY & RO0 BwoTe (PELeTAE TodNs. YEHhemdkoy whbsy
Sgon Sdo8dod. - £60888S™ 0.8 o 'e:,’;_;e.)oo""’ S29)) Se5dn S
(notice board .
RO wodo-l HabeE 388 §iod o Joes Y
FRCDS wodo-Il Shbery BIET S s b ©YHS B Giotoo
Dol o) IXEF BEoE .

Options

P

w

T o0 @o¥o-1 Ho8o3n I

Sub-Section Number: 2
Sub-Section Id: 32

Question Number : 146 Question Id : 3146 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Income & Expenditure of ABC Company
(in crores)

800
700
6500
500
400
200
200
100

2011

2013

= Income @ Expenditure

Profit = Income - Expenditure

(Income— Expenditure) .
Expenditire

00

profit =

Study the above bar diagram carefully and answer the below question.

The profit earned in 2014 is what percent of income in that year?

Options :

. 30.76%

. 25.5%

. 31.76%
2B.75%

[ELUR S RS A

Question Number : 146 Question Id : 3146 Question Type : MCQ
Correct : 1.0 Wrong : 0.0




148 Hood 150 @'ﬁ;\uﬁc BrSden
ol s =8 doSryro (bar diagram}ds e 58800 & Bo& 2l
Efps $8reT g ABovod.

income & Expenditure of ABC Company
(in crores)
800
700 |

s00 |
A0
300
200

mn;

2014

| income @ Expenditure

Profit = Income — Expenditure

_ (Income— Expenditure) <100

profir
0 Expenditure

2014 H055500°0 g0, ©8 HoSHB0S' BEaH0S* JoF FE0?
Options :
1. 30.76%
2.25.5%
3. 31.76%

. 2B.75%

o

Question Number : 147 Question Id : 3147 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Income & Expenditure of ABC Company
(in crores)

800
700
600
500
400
300
200
100

2013

mincome W Expenditure

Profit = Income - Expenditure

(Income— Expenditure) <100

% =
profi% Expenditure

Study the above bar diagrarn carefully and answer the below question.

What is the total profit earned in the given period?Study the above bar diagram carefully and answer the
below question

What is the total profit earned in the given period?

Options :
1. 500 crore

. 400 crore

250 crore

BSOWwop

700 crore

Question Number : 147 Question Id : 3147 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



148 So0l) 150 HHesH Srsdes
Lo S =8 doSryro (bar diagram)sSo aASm 588000 & Bod& QD0
BiHok SSroad) K8oSod.

Income & Expenditure of ABC Company
(in crores)

| Income

Profit= Income — Expenditure

(Income— Experditure) <100

P‘q % =
o Expenditure

S 8o 570" Hor&HOND o J0S?

Options :

500 §%¢n
(o]

400 §'&)
250 §'e)

700 §%
[n]

Question Number : 148 Question Id : 3148 Question Type : MCQ
Correct: 1.0 Wrong : 0.0




Income & Expenditure of ABC Company

(in crores)
200
700

500
400
3200
200
100

B Income w Expenditure

Profit = Incorne - Expenditure

(fncome— Expenditure) <100
Expenditure

profit% =

Study the above bar diagram carefully and answer the below question.
What is the ratio of expenditure in 2015 to income in 20137

Options :
32111

Question Number : 148 Question Id : 3148 Question Type : MCQ
Correct : 1.0 Wrong : 0.0




148 Z30D 150 (HHoss SrsHes

fods ayd =8 dosryro (bar diagram)s wigm 585800 S o Qi
BHoS S8-rTd H5odod.

= o= e ——

Income & Expenditure of ABC Company
(in crores)

2014 205

W income @ Expendilure

Profit = Income — Expenditure

9% = (Ima;::— Ex,?epﬁnre} <100
penditure

2015 30355065 SgairdE, 2013 ST ASTIS HH6s &) NS 0?
Options :
. B8

3

ra

14:1

183

1m:14

Question Number : 149 Question Id : 3149 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Income & Expenditure of ABC Company
(in crores)

700
600
500
400
300
200
100

2015

mincome @ Expenditure

Profit = Income - Expenditure

(Icome— Expenditure) «1
Expenditure

profit% = 00

Study the above bar diagram carefully and answer the below question.
Wwhat is the ratio of total income to total expenditure for the given period?

Options :
1.5 1E
157

B W N
W

w
w
[

Q
ra
)

Question Number : 149 Question Id : 3149 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



148 $r00 150 BHho s BrSSes

fo& aiyd =8 dasmyro (bar diagram)ds S 588000 & Bo& adyd
BHhosH 38r5TE) MHiodod.

Income & Expenditure of ABC Company
(in crores)

2015

Wincome o Expenditure

Profit=Income — Expenditure

0= (Income— f’;ﬁe)ﬁtwe) «100
Expenditure

QIS I0Fo 5TUrIE BIADH I§oire Hdg vl INE dos?
Options :

1. 715

2 157

3. 23:30

4 30:23

Question Number : 150 Question Id : 3150 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Income & Expenditure of ABC Company
(in crores)

800
700

500
400
200
200
100

Profit = Income - Expenditure

(Income— Expenditiire) <100
Expenditure

profit% =

Study the above bar diagram carefully and answer the below question.
Among 2012, 2013, 2014 and 2015, in which year the profit % is highest?

Options :
1. 2012
2 2013
3.2014
4

. 2018

Question Number : 150 Question Id : 3150 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



148 {0d) 150 PBHhet SrSden

Eo& 9 =8 daSno (bar diagram)d: emdEm 588800 & fod
BHos Hdrerad) Hiodod,

Income & Expenditure of ABC Company
(in crores)

700

400
300 |
2006
100

4]

Wmincome © Expenditure

Profit =Income — Expenditure

profith= (Imw;:ai— Expewditine) 100

2012, 2013, 2014 S0603» 2015 R‘Joééa)o*e:ej‘

2 BOSEBoS*® ergT o B ST od?

Options :
1. 2012

L2013
2014
. 2015

UG WS R






